Fractions of a number

Solve the following
d 10 | of 15 /=
3 | ofl10]= >
4
e 1 of 100 =
2
2 of24 =
6
f 2 | ofi32 =
8
5 | of 35 =
7
g. 1 ofl18 =
9
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4( Fractions of a number )7

Solve the following

d 10 | ofi15|= 10

15
3 | off10|= | =1
4 "2

10 | of 15 =210 x15=/10

15 15
Let's multiply the numerator by lthe whole
nhumber, then divide by the denominator So, 10 of 15 =10

15
3 |of1033x10=/30/=15x2(=1% =7 1
4 4 4 2x2 2
So, 3| ofl10 =71 e 1 of 100 =| cin
4 2 2 =

2 | ofl 24 = 1 1 of 100 =1%x100=100 = §
6 2 2 2

6 F 6 X6
6 g of 24 = 8 f 2 | ofi32 = ol
8
5 |offl35 =] »c 2 |ofB32 £2x[324 64 =g
7 =~ 8 8 8

So, 2 ofl32=8

8
5 |of 35 £ 5X353 17% = 25 x¥= 25§
7 7 7 1x7
So, _5_of 35 = 25 g |1 of1g8=]| 4

—_

So of 18 =2

© http://mathskills4kids.com




	15.fractions-of-a-number
	15.fractions-of-a-number_jhbmhmg-02

